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1,000 | 2,000 | 3,000 | 5,000
: : : 14.0 = 2.73
2005. 4.14 1.2 : — = — i — 1,866 16.0 = 0.46 14.0
: : : 17.0 = 0.21
18.0 = 0.06
2005. 6. 7 1.7 1.4 § 1.0 i 0.2 5,353 23.0 = 0.87 22.0
: : : 24.0 = 0.24
20.0 =16.13
21.0 = 7.81
2005. 6. 8 4.4 3.4 : 26 i 3.6 7,725 290 = 1.43 20.0
: : : 23.0 = 0.12
; : ; 28.0 = 2.24
2005. 7.28 2241 07— i — 2,127 29.0 = 0.93 28.0
: : : 30.0 = 0.24
i i 26.5 = 0.87
2005. 9.16 3.5 3.2 P 2,758 7.0 = 0.36 26.5
24.5 =18.30
2005.10.13 3.6 1 1.8 I 1.6 i 1.8 9,890 26.0 = 1.96 24.5
: : : 27.0 = 0.47
28.0 = 0.09
: ! ! 24.0 = 9.37
2005.10.14 711 30 i 41 i 06 5,300 25.0=4.32 1 59
: : : 26.0 = 0.90
27.0 = 0.15
20.5 = 7.17
21.0 = 3.92
: : : 22.0 = 1.37
2005.11.14 .71 1.9 § 02 1 — 3,000 23.0 = 0.72 20.5
‘ ‘ ‘ 24.0 = 0.35
25.0 = 0.13
26.0 = 0.02
12.0 = 1.24
: : : 13.0 = 0.97
: : : 14.0 = 0.22
2006. 1.26 4.5 1.9 T 2,220 150 = 0.09 12.0
16.0 = 0.04
17.0 = 0.01
10.0 = 5.82
: 11.0 = 4.09
: : : 12.0 = 3.17
2006. 2.21 2.6 1 1.4 1 — i — 2,455 10.0
: : : 13.0 = 2.16
14.0 = 1.26
15.0 = 0.26




